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JEE ADVANCED-2017 

PHYSICS 

 

1. Ans. (A) 

 

2. Ans. (B) 

Sol. 
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3. Ans. (D) 

Sol. 
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4. Ans. (C) 

Sol. 
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5. Ans. (D) 

Sol. 

   1S P bR P b Q P P b bQ       
 

 

6. Ans. (A) 

Sol. 
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7. Ans. (D) 

Sol. 
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8. Ans. (AC) 

Sol. 

 

600nm   

at 1 0P x   

at 2 1.8mmP x n    

1.8mm
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at 2 3000P x    

hence bright fright will be formed. 

at th

2 3000P  maxima is formed. 

For ' 'D  option 

sinx d  
 

cos.d x d d   

cos .R d Rd  

 

cos

R
Rd

d



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  

as we move from 1P  to 2P  

cos Rd      

 

9. Ans. (C) 

Sol. 

 

0  , it can never climb, so option (A) is incorrect. 

(B) Wheel can climb, so option (B) is incorrect. 

(C) 
 2 cos cos

cos

F R mg  

 

 


 

Since when   increases,   decreases. 
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So its correct. 

 

(D)  

cos ; increases withFr mg      

 

10. Ans. (CD) 

Sol. 

(A)  
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3 2
cot tan
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11. Ans. (ACD) 

Sol. 

   & After long timecurrent through
V

A C R I
R
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And 
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1 1 2 2L I L I
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(B) 0 0t I   

 

12. Ans. (AC) 

Sol. 

   10
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13. Ans. (CD) 

Sol. 

 

2 2

2 2

sin
2
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4
1

x
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



 


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Path of A  is ellipse 

 

 
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2
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(C)  1 cos
2

cm

L
y    

(D) midpoint will fall vertically downwards 
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14. Ans. (CD) 

Sol. 

 

(A) 
0

totaldue tocharge is
Q

Q


  

So   through the curved and flat surface will be less than 
0

Q


 

(B) The component of the electric field perpendicular to the flat surface will decrease 

so we move away from the centre as the distance increases (magnitude of electric 

field decreases) as well as the angle between the normal and electric field will 

increase. 

Hence the component of the electric field normal to the flat surface is not sonstant. 

Aliter: 

2

2 2

3

2
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R
x

KQ KQ
E

X R
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E

R




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As we move away from centre cos    So E   

(C) Since the circumference is equidistance from ' 'Q  it will be equipotential 

2
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v

R
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(D) 
 

 

0 0

0

2 1 cos ; 45

2 1 cos

4 4

1
1

2 2

Q

Q

  

 


   



    

 
    

 
   

 

 

 



  

11 

 www.tgcampus.com 

 

15. Ans. (D) 

Sol. 
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16. Ans. (B) 

Sol. 
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     

 

2

0

2

0

2 2

0 0

1 1 1
Total

18 18 18

8

18

3 1 1 1

9 2 3 2
D

CV

CV

E CV CV

 
   
 



   
    

     



  

12 

 www.tgcampus.com 

 

17. Ans. (D) 

Sol. 

A  will be I  OR 

 0R R r     

   
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  

 

 

 

18. Ans. (A) 


